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HY2AZHI (BEHA)(IIEHIIE 486,035 451,000 35,035
ol 2 gl 325,885 297,120 28,765
M erA| 325,885 297,120 28,765
101 @124l 325,885 297,120 28,765
02 JIEt A2+ 271,165 252,720 18,445
OZBSEHMN Az &=l
960,000& x22H 123 253,440
OBELAAN P22 2Y
50,0003 x22H x12& 13,200
OZBSEHYAMN =22 =
13,0223 »4EH 50 A 2t 2,605
OS24 A NEEERE JARES
20,0003 x8H 128 1,920
03 RIHAZ 22+ 54,720 44,400 10,320
OB2AY 204 ASIEEE
240,000& x19H 123 54,720
Jl23&dl 160,150 153,880 6,270
JlE2&tl 160,150 153,880 6,270
201 et 58,500 50,220 8,280
01 At 22l 58,500 50,220 8,280
ON2Y LE2IHI 50,0003 +x75H 128 45,000

_68_




A EAA
M. HMSAAH (EHAA)(IIEH/IIE
@2 Jl2&tl (e &)
SA-EB .Y (BH) - ABAY - B2 o AF o San H D2
oZgExe N2 SdHE 40,000& =12& 480
OB LAY 60,0002 x113 6,780
Oug, X ==& 6,240
-8AHA 10,0003 x165*12& 1,920
-2 AKX A 15,000& *8I A = 12& 1,440
-B8HE A 15,000& * 161 A x 122 2,880
202 04| 90,000 94,560 A4, 560
01 2L Y] 30,000 34,560 AN 4,560
OBZHA ISR =3 2 Y
50,000& x50 x12& 30,000
02 EHNYI 60,000 60,000 0
OBAX A~ AN 200,000& x9H x12& 21,600
BAXS A SHNH| 200,000& x16H x12& 38,400
203 PR =&Y| 11,650 9,100 2,550
02 BRI 2 =X H]| 4,150 2,440 1,710
OFIAINNMAR Y| 4,150
- 100¥ DXl 40,000& *100¥ 4,000
- 1019 ~ 300& 30,000& x5 150
04 EANSHLRF=AH| 7,500 6,660 840
ORNM2YIRFAY| 7,500
-2 400,000 *12& 4,800
=1t 5,000& x45H x12& 2,700
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